ISO 9001 [ [ & &

2

=Y
Ao

®

i

ISO 9001 CERTIFICATE

FO: SR - R S S T A
SONG HUEI ELECTRIC CO., LTD.
CINTE B N A T - S B S

FOSHAN SONG HUEI ELECTRIC CO., LTD.

— 3 General

o PR 5 6

Operating temperature

-10 C~+70 C

F IR

Manual soldering

260 C max 3 sec

54 Electrical Characteristics

AFHAE (R)

Total resistance

1 KQ~1MQ

M EA AR E

Total resistance tolerance

+20 % ( More than 1 MQ + 30 %)

AR OAOBOCOW
Resistance taper
2l My oL
%@H’E oy Less than 68 mV
Sliding noise
=]
e A HLE . Less than 20 Q
Residual resistance
TEMEEH ST
Rated power (W) 0.05 W
E= VP+R
E: Rated voltage %87 /& (V)
A R P: Power rating %’Eﬁi?ﬁjj (V\() )
Ratisihe i ) R: Nominal total resistance A% 4= HIUE (Q)
B P R o v A P R R R, e o R R ) A R R
When the rated voltage exceeds the maximum operating voltage,the maximum operating
voltage shall be the rated voltage.
=P = g
i AC50V
Max operating voltage
4 4% i
% Bﬂ.ﬁ . More than 100 MQ at DC 250 V
Insulation resistance
il 7R -
Withstand voltage I minute at AC 300 V
HEHRAF 14 Mechanical Characteristics
Total rotational angle
éﬁﬁﬁ 20 ~ 250 gf.cm
Rotational torque
C.CHJ
G0 params [J 50 ~ 150 gf.cm
élﬁl%ﬂ:?@}g 4 Kgf.cm max
Rotational stopper strength
LB RN
Shaft push-pull strength 8 Kgff max
=4
[olg =S 10,000 cycles

Rotational life




Mounting Hole

_28_ 70 __ L+0.5 . _ 95 _
N _ L A = 30 11.2
SR -1.6*
] 7% @’5‘\ 4 el
I O R — . s N !
j N A I S S
o) | I 1E=1") 3-91.U0q
S 2.0%0.8 — (©)|©|s 2 5.0
IS, |18 TEETH S = I O 1 A | !
wl ] M7*0.75 m /Mounting Surface
00" 1 2 3\/ 3_0 8
33150 | 08 2.0
SHAFT SHOWN IN
FULL C.C.W POSITION
CIRCUIT
A
N=5 N=7 Non notation tolerance
1 23 L=]1012.515 20| 12,515 20 <10 | #0.3
A= 3.8/ 6 8.513.5 416.5/12 10~100 0.5
choose > 100 +0.8
®  SONG HUEI ELECTRIC CO., LTD. | A EEER R 18 12.2
FOSHAN SONG HUEI ELECTRIC CO., LTD. MODEL.: RK0951N(KC)/C|/OOEE A BL=15, A=THA=S.5 | {38 boir. 10.27
- /| #1m0083 AR 2017 10.16
Appl’OVﬁ' Checked PrOJECted UNIT mm SCALE 31 & igﬂyjp/\§+0-2 N \Qf_'@,
. R&D NET B4 4 |2016. 04. 20
2018-12-20) VERSION| 1.4 DATE |2012.08.10 [ISSUE| SUBJECT NAME | DATE
R W 3
; TR/ PRAOINCIR-09KT-004 RECORD




Shaft Types 11 E]:

1.0
QGOT()O]_

B L+0.5 . B L+0.5 § B L+0.5
N _ A T N F ool%s N 15
o| © 6| ©
—| @ < | Q
1
‘

‘ I 1 _
|

| M7*0.75 18 TEETH \ M7*0.75 | M7*0.75

KC Type

F Type RE Type
N=5mm N=5mm N=5mm
L=]10 [12.5 15| 20 L=]10 125/ 15| 20| 25| 30 L= 8 | 10
A=|38| 6 |85]|135 F=1 4| 7 |7 12|12 12 N=7mm
N=7mm N=7mm L= 15
L=1125 15| 20 L=]15 20| 25| 25
A= 4 65|12 F=| 7 |12 12 | 12




